

IGNACIO ALEXANDRA OSATO
MECATRONICA
ISTENLOS1010

1. $y = e^{2x+2x} - 0$

$y' = (2x+1)e^{2x+2x} - 0$ $y'' = 2e^{2x+2x}$

$y' = 2x+1$ $v = e^{2x+2x}$

$\frac{dy}{dx} = 2$ $\frac{dv}{dx} = (2x+1)e^{2x+2x}$

Using product rule

$y'' = u \frac{dv}{dx} + v \frac{du}{dx}$

$y'' = (2x+1)(2x+1)e^{2x+2x} + 2e^{2x+2x}$

from eqn 1 $y'(u)$

$y'' = y'(2x+1) + 2y$

$y^{(n)} = y^{(n)}(2x+1) + 2y$

$u_1 = y^{(n)}$ $v_1 = 2x+1$ $u_2 = y^{(n)}$ $v_2 = 2$

$u_3 = 2y$

$u = y$ $v = 2$

$u^n = y^n$

$u^{(n)} = u^{(n)} + u^{(n-1)}v'$

$y^{(n)} = u^{(n)}v + n u^{(n-1)}v'$
 $y^{(n)} = y^{(n)}(2x+1) + n(y^{(n-1)}) \cdot 2 + y^{(n)} \cdot 2$
 $y^{(n)} = (2x+1)y^{(n)} + 2(n+1)y^{(n)}$

2. $y = x^3 e^{4x}$ find y^5

$u = e^{4x}$ $v = x^3$

$u' = 4e^{4x}$ $v' = 3x^2$

$u'' = 16e^{4x}$ $v'' = 6x$

$u''' = 64e^{4x}$ $v''' = 6$

$u^{(4)} = 256e^{4x}$ $v^{(4)} = 0$

$u^{(5)} = 1024e^{4x}$ $v^{(5)} = 0$

$y^{(n)} = u^{(n)}v + n u^{(n-1)}v' + \frac{n(n-1)}{2!} u^{(n-2)}v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)}v''' + \dots$

$y^5 = u^{(5)}v + 5u^{(4)}v' + 10u^{(3)}v'' + 10u^{(2)}v''' + 5u^{(1)}v^{(4)} + uv^{(5)}$

$$y^{(5)} = 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + \frac{5(4)(64e^{4x})}{2!} + \frac{5(4)(3)96e^{4x}}{3!} + \frac{5(4)(3)(2)4e^{4x}(4)}{4!}$$

$$y^{(5)} = 1024 e^{4x} x^3 + 3840 e^{4x} x^2 + 3840 e^{4x} + 960 e^{4x} + 0$$

$$y^{(5)} = 64 e^{4x} [16x^3 + 60x^2 + 60x + 15]$$

2b $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

$$w_1 = x^2 y''$$

$$u = y^2$$

$$v = x^2$$

$$u^{(n)} = y^{(n+2)}$$

$$v' = 2x$$

$$u^{(n-1)} = y^{(n+1)}$$

$$v^2 = 2$$

$$u^{(n-2)} = y^{(n)}$$

$$v^3 = 0$$

$$w_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^{(n)} \cdot 2 + 0$$

$$w_2^{(n)} = y^{(n+1)} x + n y^{(n)} \cdot 1 + 0$$

$$w_3^{(n)} = y^{(n)}$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2x(n+1) + 1] + y^{(n)} [n(n-1) + n + 1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2x(n+1) + 1] + y^{(n)} [n^2 - n + n + 1] = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + y^{(n)} [n^2 + 1] = 0$$